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Instruction to Candidates: 
u v

1) Section - A is ComPulsorY.

2) Attempt any Four questions fi'om Sectior-r - B.

3) Atternpt any Two questions fronr Section - C.

Section - A

QI)  Q0x2=20)

a) Cive two differences between solids and liquids.

b) Deflne the term path line with an exarnple.

c) Define the terms gauge pressure and absolute pressLlre.

d) Deflne the term kinematic viscosity'? Why the word kinernatic is used
' 

in i t .

e) State. the difference between an brifice and a mouthpiece.

l)  Def ipe Pascal 's law'? Als6 state i ts two appl icat iops.

g) Define the term coefficient of discharge. Whose coefficient of discharge

is mol'e : venturimeter or orifice meter'

h) State any two applications of Bernoulli's theorem.

i) Ditl-erentiate b/w lamittar 3nd turbulent flow.

j) Why do we use the kinetic energy and momelttutl correcticln factors'?
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Section - Il
(1  x5=20)

Q2) Der ive.  t l te art i t l i ' t ical  cxplessiort  l i r r  nret i rcent l ' ic  l re ig l i t  o l ' l1 ' loat i l ru bocly.

Q3) Ex1':l ir irr Hvdrostatic paradox lvith diagrarn alone u,ith tlre reasons of its

occur iu lce.

Q4) Explain with diagrant the rvorking of a pitot turbe.

Q5) An ideal florv is.given by

17 = Zxji- 3f_t7.

Is this f-low steady or unsteady. Is this flow 2 or 3 dimensional.

Make calculat ious for the velocity, lqcal accelerat ion and cont,ect ive

acceleration of a fluid particle in this florv fleld at point P(x, y, z) = (2. l, 3).

Q6) Deive the fbnnulae of any two dimensionless no.s, and also state their
applications and irnportance.

Section - C

(2x10=20)

Q7) An etnpty tank (with all sides closed) is rectangular in plan. side elevation
and end elevation rvitlr sides l2.5m long. 0.7nr broad and 0.6rn high. If the
sheet metal u'eiglts 363 N/nl: of the surface and the tank is allowed to float

in tiesh r,vater with 0.6m ed-ees vertical, flnd whether the eqLrilibrium fur
both horizontal axes is stable or not. Specilic weight of water is 9810 N/m3.

Q8) Derive Darcv u,eisbach equirtion tbr l 'riction losses in circirlar pipes.

Q9) Tbe rate of water thrtiugh a vertical conical drafi tube of a Kaplan turbine is
l7.5nrr/s. l"he diameterof the drafi tube on the side connected to tlre outlet
of the turbine runner is 2.5rn and the average velocity at exit is .l.5nris. If
the pressllre at irrlet to the tube is not to be less than -0.7 bar, hor,v far the
tube sltould extend above the tail race. Neglect fl ' ictional eff'ects and presurne

that exit  of t l re drarf i  tube l ies l .2m below the tai l  rvater level.

R-998 mllw.altsubiects4You'com

www.brpaper.com

